6 | 5 | 4 | 2 | 1
PARTS LIST
ITEM | QTY PART NUMBER DESCRIPTION
347.00 mm [13,661 in] 1 18 |M3 pull up insert M3 Insert
2 20 |M3 x 12 mm CSK Screw  |Fixing Screws
2 20 M3 x 12 mm Torx Screw |Fixing Screws
3 4 |M5300015 Rubber Feet
6 1 [M5301104 Base Panel
6 | % ' 7 1 |M5300045 Sub Assembly
p—
I _ I = 25.00 mm [0,984 in]
332.50 mm [13,091 in] < B
5 | = all o c
| | 0, 0 =
ot 1o £ AT T
I I £ . N @
|, 166.25mm[6,545in] , 166.25mm [6,545in] | = | | o
3 n i 1 S | | | Ey €
| | =y = | =3 S E
e — ey N_ Ry
= : 0
7 hand o0
370.00 mm [14,567 in]
A-A
A _.l 3.30 mm [0,130 in]
! £~ T
/ ~ | ‘-B g § Mﬁ? E“ =
_ = ST g k|8
= N W ‘e E = AR
S = = < 2 « E| E HI
S = < = 8| 8 ST g, 3
o ~ - (D_ - N /@)
bl E I 8. N | I —i Faingy7 MR/
c hnd | h S = T e {:8 o
= A Q c 149.00 mm [5,866 in]
N a
© — 200.00 mm [7,874 in K 1 .
< 347.00 mm [13,661 in] N [ ] ON‘- 172.00 mm [6,771 in]
400.00 mm [15,748 in]
FIRST ANGLE PROJECTION
Notes: Case comes fully assembled Designed by Description Date Scale
Drawing not con);pletely to fi’rst angle projection L Clark Unidesk M400 Traffic White, RAL 9016 [19/06/2025 1:2.75
- . ' METCASE ENCLOSURES 1
Non Seallng gaSket version (M5340116)' 15 Brunel Way, Segensworth East, Fareham, MEDT www.metcase.com
i art Number Issue hee
© ORW Endeure 17 5ot o chowr) The davig i roprry et o OKW Enceeurss 17 and e endored s o e o oo T rormaren] (SRR o SC SRS 00 o |M5340116 N EVE
6 | 5 | 4 | | 1

4& 3




